Jason Hare GREEK AN INTENSIVE COURSE [1]

78-79

(Hansen & Quinn)

Self-Correcting Examination 14

L 1. xwp&v: This word is first-declension feminine. All feminine nouns of the first declension take
the circumflex on the ultima in the genitive plural.

2. Odpa: The lexical form is 0@pov. Since the final alpha in the plural is short in the
nominative/accusative plural of the second declension on neuter nouns, the circumflex is
retained.

3. xeAeloar: This form is aorist infinitive, and all aorist infinitives take their accent on the
penult. Since -at is short for accentuation purposes, the long diphthong takes the circumflex.

4. ¢vlarrete: Regressive accent. Nothing keeps it from remaining on the antepenult.

5. Beois: The lexical form is beds. The accent is retained on the ultima, but the long diphthong
takes the circumflex.

I 1. v vijoov 6. mavwo / madesle

2. T Oed 7.  &woag

3. Tév badnoiidy 8.  émaidevov

4. ToUg aTeddvoug 9.  Bloatev / Bdoeiay

5. Nvixn 10.  xelevoe

III. ~ PRINCIPLE PARTS ypadw, ypalw, Eypaja,
Yéypada, yeypapual, ypddny
Present Indicative Active Ypddete
Imperfect Indicative Active éypacdere
Future Indicative Active ypdpete
Aorist Indicative Active gypaate
Perfect Indicative Active yeypadate
Pluperfect Indicative Active éyeypadete
Present Subjunctive Active ypddrTe
Aorist Subjunctive Active ypapmte
Present Optative Active ypadolte
Aorist Optative Active ypapaite
Present Infinitive Active Ypadew
Aorist Infinitive Active ypapat
Perfect Infinitive Active yeypadévat

IV. 1.  Before the battle, will they send the messenger [who came] from the foreigners out of the

market place through the country to the men [who are] in the house?
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2. Inorder that they might not disturb the peace, we were ordering Homer to educate the men
from the island with books.

(a) Adgeiav — Aboatey

(b) &g v eipnyny un Aawaty “Ounpov xexeAelxapey Tobg amd Tis vioou avlpwmoug BiBAlorg
naeloat.

(c) PBtPAlot. Instrumental dative, indicating what Homer was to use in order to instruct the
people of the island.

3. You (s.) have written a book concerning sacrifice to the gods in order that we might send to
the island both animals and wreaths, gifts to the goddess.

(a) PBiPAiov mepl TH Tols Beols Buaiag ypdeis tva xal {Ga xal atedavous, dGpa Tf ey, el Ty
vijoov Téuwuey.

(b) 0&pa is standing in apposition to the phrase xai {Ga xai oTeddvoug, which is the direct
object of the sentence. Thus, d@pa also appears in the accusative case in agreement with
the direct object.

(c) méuwyey is in the aorist subjunctive as part of a primary sequence purpose clause,
introduced by va. The present subjunctive in this case would be méumwpev.

4. Inword, you (p.) were stopping the war in the region, but in deed you were sending your
brothers into battle.
5. Homer had educated his friend that they might offer sacrifices to the gods, but his brother

(did not such thing).

(a) Tolg Oeols is the indirect object of the verb 80otev.

(b) Bvotev is in the present optative active. It is part of a secondary sequence purpose clause.

The secondary sequence is pluperfect — optative.

7oV “Ounpov od xehevoopey Biria ypapar mept TGV payxdv. ta yap Brpiia Todg moAéupoug ob maveL.



